

Board of County Commissioners Agenda Request



Requested Meeting Date: 6-9-20
Title of Item: Award Contract No. 20205

✓ REGULAR AGENDA	Action Requested:	Direction Requested
CONSENT AGENDA	Approve/Deny Motion	Discussion Item
INFORMATION ONLY	Adopt Resolution (attach dr	raft) Hold Public Hearing* e copy of hearing notice that was published
Submitted by: John Welle		Department: Highway Department
Presenter (Name and Title): John Welle, Aitkin County Engineer		Estimated Time Needed: 10 minutes
of Aitkin. C.P. 001-090-035 includes to Channel. As shown on the attached abstract of the contract of the con	des 35 culvert replacements on the 2. wo culvert replacements under the so bids, six bids were received, with Man	ncludes C.P. 001-076-001 and C.P. 9 mile segment of County Highway 76 south uth bank of the Mississippi River Diversion vin Tretter Inc., Pierz, MN submitting the low t \$591,160.20, the low bid was 7.85% above
The use of county development funds Diversion Channel is proposed as the		035 adjacent to the Mississippi River
Alternatives, Options, Effects or	n Others/Comments:	
Recommended Action/Motion: Recommend award of project to Marvir	n Tretter, Inc. by attached resolution.	
Financial Impact: Is there a cost associated with this What is the total cost, with tax and Is this budgeted? Yes	-	

Aitkin County Contract Bid Abstract

Project No.:

CP 001-076-001, CP 001-090-035

Bid Opening:

6/1/2020 at 2:00 PM

Project Title:

CR 76 and Division Channel Culvert Replacements

Contract No.:

20205

	Project: CP 001-076-001 - Culvert Replacement - County Road 76			Engineers Estir	nate	Marvin Trette Pierz, MN	r, Inc -	BroMax Contra	acting LLC -	Landwehr Con	struction -
Line No.	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Onamia, MN Unit Price	Total Price	St. Cloud, MN	Transfer
1	2021.501 MOBILIZATION	LS	1	\$15,000.00	The same of the sa	-		\$50,000.00			Total Price \$23,987.5
2	2051.501 MAINT & RESTORATION OF HAUL ROADS	LS	1	\$1,000.00	-		\$1.00	\$1,000.00			
3	2101.501 CLEARING & GRUBBING	LS	1	\$18,000.00				\$25,000.00			
4	2104.503 SAWING BIT PAVEMENT (FULL DEPTH)	LF	681	\$2.25				\$4.00			-
5	2104.503 REMOVE PIPE CULVERTS	LF	1687	\$12.00				\$15.00			
6	2104.503 REMOVE CABLE GUARDRAIL	LF	1513	\$2.50			\$4,917.25	\$3.25		0	
7	2104.503 REMOVE CATTLE PASS	LF	174	\$20.00			The state of the s	\$25.00			
8	2104.504 REMOVE BITUMINOUS PAVEMENT	SY	103	\$10.00				\$10.00			
9	2105.507 COMMON EXCAVATION (P)	CY	2231	\$8.00		130.01 (17.4)		\$10.00			
10	2118.507 AGGREGATE SURFACING (LV), CLASS 5	CY	438	\$27.00				\$40.00	\$17,520.00	<u> </u>	
11	2211.507 AGGREGATE BASE (CV) CLASS 5	CY	1732	\$30.00		The state of the s	\$46,764.00	\$25.00			
12	2215.504 FULL DEPTH RECLAMATION	S Y	4122	\$3.50	\$14,427.00	\$5.50	\$22,671.00	\$1.85			
13	2357.506 BITUMINOUS MATERIAL FOR TACK COAT	GAL	203	\$2.00	\$406.00		\$507.50	\$2.25			
14	2360.509 TYPE SP 12.5 WEARING COURSE MIX (2,B)	TON	941	\$90.00	\$84,690.00	\$90.00	\$84,690.00	\$93.00	\$87,513.00		
15	2412.502 6X4 PRECAST CONCRETE BOX CULV END SECT	EACH	2	\$2,500.00	\$5,000.00	\$5,000.00	\$10,000.00	\$5,000.00			
16	2412.502 6X5 PRECAST CONCRETE BOX CULV END SECT	EACH	2	\$2,500.00	\$5,000.00	\$6,000.00	\$12,000.00	\$6,000.00	\$12,000.00		
17	2412.503 6X4 PRECAST CONCRETE BOX CULVERT	LF	80	\$500.00	\$40,000.00	\$575.00	\$46,000.00	\$650.00	\$52,000.00		
18	2412.503 6X5 PRECAST CONCRETE BOX CULVERT	L F	54	\$500.00	\$27,000.00	\$625.00	\$33,750.00	\$710.00	\$38,340.00		
19	2451.507 GRANULAR BACKFILL (EV)	CY	3769	\$15.00	\$56,535.00	\$14.00	\$52,766.00	\$15.00	\$56,535.00		
20	2451.507 COARSE AGGREGATE BEDDING (CV)	CY	63	\$45.00	\$2,835.00	\$45.00	\$2,835.00	\$60.00	\$3,780.00		
21	2501.502 15" GS PIPE APRON	EACH	44	\$175.00	\$7,700.00	\$160.00	\$7,040.00	\$150.00	\$6,600.00		
22	2501.502 18" GS PIPE APRON	EACH	4	\$200.00	\$800.00	\$180.00	\$720.00	\$250.00	\$1,000.00	\$255.00	
23	2501.502 24" GS PIPE APRON	EACH	2	\$250.00	\$500.00	\$275.00	\$550.00	\$500.00	\$1,000.00	\$290.00	\$580.0
24	2501.502 18" RC PIPE APRON	EACH	4	\$750.00	\$3,000.00	\$575.00	\$2,300.00	\$750.00	\$3,000.00	\$655.00	\$2,620.0
25	2501.502 24" RC PIPE APRON	EACH	10	\$900.00	\$9,000.00	\$650.00	\$6,500.00	\$900.00	\$9,000.00	\$755.00	\$7,550.0
26	2501.502 30" RC PIPE APRON	EACH	2	\$1,400.00	\$2,800.00	\$850.00	\$1,700.00	\$1,300.00	\$2,600.00	\$1,095.00	\$2,190.0
27	2501.503 15" CS PIPE CULVERT	L F	932	\$32.00	\$29,824.00	\$32.00	\$29,824.00	\$35.00	\$32,620.00	\$40.10	
28	2501.503 18" CS PIPE CULVERT	L F	112	\$40.00	\$4,480.00	\$35.00	\$3,920.00	\$40.00	\$4,480.00		
29	2501.503 24" CS PIPE CULVERT	LF	80	\$50.00	\$4,000.00	\$45.00	\$3,600.00	\$50.00	\$4,000.00	\$56.50	\$4,520.0
30	2501.503 18" RC PIPE CULVERT DES 3006	LF	48	\$90.00	\$4,320.00	\$55.00	\$2,640.00	\$100.00	\$4,800.00	\$400.00	\$19,200.0
48	2501.503 18" RC PIPE CULVERT DES 3006 CL III	L F	40	\$95.00	\$3,800.00	\$60.00	\$2,400.00	\$100.00	\$4,000.00	\$290.00	\$11,600.0
31	2501.503 24" RC PIPE CULVERT DES 3006	LF	178	\$100.00	\$17,800.00	\$65.00	\$11,570.00	\$115.00	\$20,470.00	\$170.00	\$30,260.0

	Project: CP 001-076-001 - Culvert Replacement -			Engineers Estir	nate	Marvin Trette	r, Inc -	BroMax Contra	19 - T. T. O.	Landwehr Con	struction -
	County Road 76	-	-			Pierz, MN		Onamia, MN		St. Cloud, MN	
ine No.	Item	Units	-	Unit Price	Total Price	Unit Price	Total Price			Unit Price	Total Price
32		LF	88			\$65.00					
33		LF	106			\$70.00			\$12,720.00	\$300.00	\$31,800.0
34		LF	86					\$130.00	\$11,180.00	\$420.00	\$36,120.0
35		CY	70					\$125.00	\$8,750.00	\$78.00	\$5,460.0
36		EACH	6	\$1,800.00	\$10,800.00	\$2,200.00	\$13,200.00	\$2,200.00	\$13,200.00	\$2,235.00	\$13,410.0
37		LF	1513			\$12.50	\$18,912.50	\$13.50	\$20,425.50	\$13.70	\$20,728.1
38		LS	1	\$3,500.00	\$3,500.00	\$7,500.00	\$7,500.00	\$8,000.00	\$8,000.00	\$7,715.00	\$7,715.0
39		LF	1325	\$3.00	\$3,975.00	\$3.00	\$3,975.00	\$4.00	\$5,300.00	\$3.40	\$4,505.0
40		LF	220	\$20.00	\$4,400.00	\$17.00	\$3,740.00	\$18.65	\$4,103.00		
41		LB	1715	\$0.80	\$1,372.00	\$1.00	\$1,715.00	\$1.05	\$1,800.75	\$1.20	
42	2575.505 SEEDING (P)	ACRE	4.9	\$300.00	\$1,470.00	\$800.00	\$3,920.00	\$880.00	\$4,312.00	\$895.00	\$4,385.5
43	2575.508 SEED MIXTURE 25-141	LB	289	\$4.25	\$1,228.25	\$3.50					
44	2575.508 HYDRAULIC BONDED FIBER MATRIX	LB	17150	\$0.70	\$12,005.00	\$1.75	\$30,012.50	\$1.65	\$28,297.50		
45	2575.523 RAPID STABILIZATION METHOD 3	MGAL	6	\$425.00	\$2,550.00	\$400.00	\$2,400.00	\$440.00			
46	2582.503 4" SOLID LINE PAINT	LF	5732	\$0.35							
47		LF	160	\$0.35				4			
	Project: CP 001-090-035 - Diversion Channel Culvert(s)		-	Engineers Estin	ate	Marvin Trette	r, Inc -	BroMax Contra	cting LLC -	Landwehr Con	struction -
ine No	19/950(550)	Units	Quantity	•	nate	Pierz, MN		Onamia, MN	-	St. Cloud, MN	
Line No.	Item		Quantity	Unit Price	Total Price	Pierz, MN Unit Price	Total Price	Onamia, MN Unit Price	Total Price	St. Cloud, MN Unit Price	Total Price
Line No.	Item 2021.501 MOBILIZATION	LS	1	Unit Price \$2,500.00	Total Price \$2,500.00	Pierz, MN Unit Price \$6,000.00	Total Price \$6,000.00	Onamia, MN Unit Price \$2,000.00	Total Price \$2,000.00	St. Cloud, MN Unit Price \$1,525.00	Total Price \$1,525.0
1 5	Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING	LS LS	1	Unit Price \$2,500.00 \$2,000.00	Total Price \$2,500.00 \$2,000.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00	Total Price \$6,000.00 \$3,000.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00	Total Price \$2,000.00 \$3,000.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00	Total Price \$1,525.0 \$4,285.0
1 5 6	Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS	LS LS L F	1 1 220	Unit Price \$2,500.00 \$2,000.00 \$10.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00	Total Price \$1,525.0 \$4,285.0 \$3,300.0
1 5	Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION	LS LS L F C Y	1 1 220 394	Unit Price \$2,500.00 \$2,000.00 \$10.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00	Total Price \$1,525.0 \$4,285.0 \$3,300.0 \$2,758.0
1 5 6	Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON	LS LS L F C Y EACH	1 1 220 394 2	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00 \$225.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00 \$450.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00 \$250.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00 \$500.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00 \$255.00	Total Price \$1,525.0 \$4,285.0 \$3,300.0 \$2,758.0 \$510.0
1 5 6	Item	LS LS L F C Y EACH	1 220 394 2 2	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00 \$225.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00 \$450.00 \$1,100.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00 \$250.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00 \$500.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00 \$255.00	Total Price \$1,525.0 \$4,285.0 \$3,300.0 \$2,758.0 \$510.0 \$1,500.0
1 5 6	Item	LS LS L F C Y EACH EACH	1 220 394 2 2 212	\$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00 \$225.00 \$550.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00 \$450.00 \$1,100.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00 \$250.00 \$900.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00 \$500.00 \$1,800.00 \$8,480.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00 \$255.00 \$750.00	Total Price \$1,525.0 \$4,285.0 \$3,300.0 \$2,758.0 \$510.0 \$1,500.0 \$33,920.0
1 5 6	Item	LS LF CY EACH EACH LF	1 220 394 2 2 212 60	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00 \$225.00 \$550.00 \$550.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00 \$450.00 \$1,100.00 \$6,148.00 \$330.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00 \$250.00 \$9900.00 \$440.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00 \$500.00 \$1,800.00 \$8,480.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00 \$255.00 \$750.00 \$160.00	Total Price \$1,525.0 \$4,285.0 \$3,300.0 \$2,758.0 \$510.0 \$1,500.0 \$33,920.0 \$336.0
1 5 6	Item	LS LS L F C Y EACH EACH	1 220 394 2 2 212	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00 \$225.00 \$550.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00 \$450.00 \$1,100.00 \$6,148.00 \$330.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00 \$250.00 \$900.00 \$40.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00 \$500.00 \$1,800.00 \$8,480.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00 \$255.00 \$750.00 \$160.00	Total Price \$1,525.0 \$4,285.0 \$3,300.0 \$2,758.0 \$510.0 \$1,500.0 \$33,920.0 \$336.0
1 5 6	Item	LS LF CY EACH EACH LF	1 220 394 2 2 212 60	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00 \$225.00 \$550.00 \$550.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00 \$450.00 \$1,100.00 \$6,148.00 \$330.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00 \$250.00 \$900.00 \$40.00 \$5.50 \$2,750.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00 \$500.00 \$1,800.00 \$8,480.00 \$330.00 \$2,750.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00 \$255.00 \$750.00 \$160.00 \$5.60	Total Price \$1,525.0 \$4,285.0 \$3,300.0 \$2,758.0 \$510.0 \$1,500.0 \$33,920.0 \$336.0 \$2,795.0
1 5 6	Item	LS LF CY EACH EACH LF	1 220 394 2 2 212 60	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00 \$225.00 \$550.00 \$550.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00 \$450.00 \$1,100.00 \$6,148.00 \$330.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00 \$250.00 \$900.00 \$40.00 \$5.50 \$2,750.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00 \$500.00 \$1,800.00 \$8,480.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00 \$255.00 \$750.00 \$160.00 \$5.60	Total Price \$1,525.6 \$4,285.6 \$3,300.6 \$2,758.6 \$510.0 \$1,500.6 \$33,920.6 \$2,795.6 \$50,929.6
1 5 6 9 2 7 3 8 4	Item	LS LF CY EACH EACH LF	1 220 394 2 2 212 60	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$900.00 \$2,000.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00 \$225.00 \$550.00 \$550.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00 \$450.00 \$1,100.00 \$6,148.00 \$330.00 \$2,600.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00 \$250.00 \$900.00 \$40.00 \$5.50 \$2,750.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00 \$500.00 \$1,800.00 \$330.00 \$2,750.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00 \$255.00 \$750.00 \$160.00 \$5.60	Total Price \$1,525.6 \$4,285.6 \$3,300.6 \$2,758.6 \$510.0 \$1,500.6 \$33,920.6 \$33,920.6 \$2,795.6
1 5 6 9 2 7 3 8 4	Item	LS LF CY EACH EACH LF	1 220 394 2 2 212 60	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00	Pierz, MN Unit Price \$6,000.00 \$3,000.00 \$10.00 \$9.00 \$225.00 \$550.00 \$550.00	Total Price \$6,000.00 \$3,000.00 \$2,200.00 \$3,546.00 \$450.00 \$1,100.00 \$6,148.00 \$330.00 \$2,600.00	Onamia, MN Unit Price \$2,000.00 \$3,000.00 \$12.00 \$10.00 \$250.00 \$900.00 \$40.00 \$5.50 \$2,750.00	Total Price \$2,000.00 \$3,000.00 \$2,640.00 \$3,940.00 \$500.00 \$1,800.00 \$330.00 \$2,750.00	St. Cloud, MN Unit Price \$1,525.00 \$4,285.00 \$15.00 \$7.00 \$255.00 \$750.00 \$160.00 \$5.60	Total Price \$1,525.0 \$4,285.0 \$3,300.0 \$2,758.0 \$510.0 \$1,500.0 \$33,920.0 \$336.0

	Project: CP 001-076-001 - Culvert Replacement - County Road 76			Engineers Estir	nate	J.R. Ferche, In	c - Rice, MN	Kern & Tabery Wadena, MN	Inc -	Midwest Cont Marshall, MN	racting, LLC -
ine No.	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501 MOBILIZATION	LS	1	\$15,000.00							
2	2051.501 MAINT & RESTORATION OF HAUL ROADS	LS	1		The second second		On the second second	Name and Address of the Owner, where the Owner, which is the Owner, which	The second secon		
3	2101.501 CLEARING & GRUBBING	LS	1	\$18,000.00	\$18,000.00				\$18,000.00		
4	2104.503 SAWING BIT PAVEMENT (FULL DEPTH)	LF	681								
5	2104.503 REMOVE PIPE CULVERTS	LF	1687				·	\$38.00			
6	2104.503 REMOVE CABLE GUARDRAIL	L F	1513					\$3.00			
7	2104.503 REMOVE CATTLE PASS	LF	174	The state of the s	THE RESERVE OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAME	The second line was a second line with the second line was the second line with the second line was the second line with the second lin	The second second	\$60.00	The second second second		
8		SΥ	103					\$10.00	The state of the s	- WENNING	THE RESIDENCE OF THE PERSON NAMED IN
9		CY	2231					\$12.00			
10	2118.507 AGGREGATE SURFACING (LV), CLASS 5	CY	438	\$27.00				\$25.00	\$10,950.00		
11	2211.507 AGGREGATE BASE (CV) CLASS 5	CY	1732	\$30.00	\$51,960.00	\$32.00	\$55,424.00	\$33.25	\$57,589.00	\$55.00	
12	2215.504 FULL DEPTH RECLAMATION	SY	4122	\$3.50			The state of the s	\$1.66			
13	2357.506 BITUMINOUS MATERIAL FOR TACK COAT	GAL	203	\$2.00			\$426.30	\$2.00	\$406.00	\$2.00	
14	2360.509 TYPE SP 12.5 WEARING COURSE MIX (2,B)	TON	941	\$90.00			\$82,808.00	\$84.00	\$79,044.00	\$84.00	\$79,044.0
15	2412.502 6X4 PRECAST CONCRETE BOX CULV END SECT	EACH	2	\$2,500.00			\$14,000.00	\$3,871.00	\$7,742.00	\$7,000.00	\$14,000.0
16	2412.502 6X5 PRECAST CONCRETE BOX CULV END SECT	EACH	2	\$2,500.00	\$5,000.00	\$9,500.00	\$19,000.00	\$4,603.00	Name and Address of the Owner, where the Owner, which is the Owner, where the Owner, which is the Owner,	Commence of the local division in the local	
17		LF	80	THE RESIDENCE OF THE PARTY OF T	THE RESERVE AND ADDRESS OF THE PERSON NAMED IN		THE PERSON NAMED IN		\$59,528.80		
18		LF	54					\$850.18			
19	2451.507 GRANULAR BACKFILL (EV)	CY	3769	\$15.00	\$56,535.00		<u> </u>	\$26.00			
20		CY	63	\$45.00	\$2,835.00	\$75.00	\$4,725.00	\$33.25	\$2,094.75	\$85.00	\$5,355.0
21		EACH	44	\$175.00				\$157.71		Committee of the contract of t	
22		EACH	4					\$193.40			
23	2501.502 24" GS PIPE APRON	EACH	2	\$250.00	\$500.00	\$250.00	\$500.00	\$250.46	\$500.92	\$395.00	\$790.0
24		EACH	4	\$750.00	\$3,000.00	\$1,750.00	\$7,000.00	\$572.15	\$2,288.60	\$1,200.00	\$4,800.0
25	2501.502 24" RC PIPE APRON	EACH	10	\$900.00	\$9,000.00	\$2,000.00	\$20,000.00	\$710.18	\$7,101.80	\$1,500.00	\$15,000.0
26	2501.502 30" RC PIPE APRON	EACH	2	\$1,400.00	\$2,800.00	\$2,500.00	\$5,000.00	\$901.46	\$1,802.92	\$2,000.00	\$4,000.0
27	2501.503 15" CS PIPE CULVERT	LF	932	\$32.00	\$29,824.00	\$24.00	\$22,368.00	\$26.54	\$24,735.28	\$39.00	\$36,348.0
28	} 	LF	112	\$40.00		\$28.00		\$29.37			\$4,928.0
29		LF	80	\$50.00	\$4,000.00	\$32.00		\$38.27	\$3,061.60	\$57.00	\$4,560.0
30		LF	48		Company of the last of the las			\$399.30	The second live and second lin second live and second live and second live and second live and	The second secon	
48		LF	40		THE RESERVOIR ASSESSMENT ASSESSME		THE RESERVE THE PERSON NAMED IN COLUMN	\$251.71			
31		LF	178	\$100.00	\$17,800.00	\$165.00			\$46,801.54	\$165.00	\$29,370.0
32		LF	88					9			
33		LF	106							4	
34		LF	86	\$140.00		The state of the s	-	- Windsteinsteins		THE RESERVE OF THE PERSON NAMED IN COLUMN 1	-
35		CY	70								

	Project: CP 001-076-001 - Culvert Replacement - County Road 76			Engineers Estin	nate	J.R. Ferche, In	c - Rice, MN	Kern & Tabery Wadena, MN	Inc -	Midwest Conti Marshall, MN	racting, LLC -
Line No.	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
36	2554.502 ANCHORAGE ASSEMBLY - CABLE	EACH	6	\$1,800.00	\$10,800.00	\$2,500.00	\$15,000.00	\$2,000.00	\$12,000.00	\$2,000.00	\$12,000.0
37	2554.503 TRAFFIC BARRIER DESIGN 8331	LF	1513	\$10.00	\$15,130.00	\$14.00	\$21,182.00	\$12.25	\$18,534.25	\$12.50	\$18,912.5
38	2563.601 TRAFFIC CONTROL	LS	1	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$4,200.00	\$4,200.00	\$10,000.00	\$10,000.0
39	2573.503 SILT FENCE, TYPE HI	LF	1325	\$3.00	\$3,975.00	\$3.45	\$4,571.25	\$3.00	\$3,975.00	\$3.00	
40	2573.503 FLOTATION SILT CURTAIN TYPE STILL WATER	LF	220	\$20.00	\$4,400.00	\$19.50	\$4,290.00	\$16.95	\$3,729.00	\$18.00	\$3,960.0
41	2574.508 FERTILIZER TYPE 3	LB	1715	\$0.80	\$1,372.00	\$1.00	\$1,715.00	\$0.95	\$1,629.25	\$1.00	
42	2575.505 SEEDING (P)	ACRE	4.9	\$300.00	\$1,470.00	\$900.00		\$800.00	\$3,920.00	\$1,000.00	\$4,900.0
43	2575.508 SEED MIXTURE 25-141	LB	289	\$4.25	\$1,228.25	\$3.50			\$939.25	\$3.00	
44	2575.508 HYDRAULIC BONDED FIBER MATRIX	LB	17150	\$0.70	\$12,005.00	\$1.65			The second district of the second	\$1.60	\$27,440.0
45	2575.523 RAPID STABILIZATION METHOD 3	MGAL	6	\$425.00	\$2,550.00	\$425.00	\$2,550.00	\$400.00	\$2,400.00	\$450.00	
46	2582.503 4" SOLID LINE PAINT	LF	5732	\$0.35	\$2,006.20	\$0.35			\$1,834.24	\$1.50	
47	2582.503 4" BROKEN LINE PAINT	L F	160	\$0.35	\$56.00	\$0.35			\$51.20	\$2.00	
	many of the process of the second sec				\$566,652.20		\$794,931.25		\$860,240.42		\$926,179.
	Totals for Project CP 001-076-001				9500,032,20		4.0 1200 E1ES				
	% of Estimate for Project CP 001-076-001	_			\$300,032.20		40.29%		51.81%	Mid Cot	63.45
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s)			Engineers Estin	nate	J.R. Ferche, In	40.29% c - Rice, MN	Kern & Tabery Wadena, MN	51.81% Inc -	Midwest Conti Marshall, MN	63.455 acting, LLC -
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item	Units		Unit Price	nate Total Price	Unit Price	40.29% c - Rice, MN Total Price	Kern & Tabery Wadena, MN Unit Price	51.81% Inc - Total Price	Marshall, MN Unit Price	63.45 acting, LLC - Total Price
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION	LS		Unit Price \$2,500.00	nate Total Price \$2,500.00	Unit Price \$5,000.00	40.29% c - Rice, MN Total Price \$5,000.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00	51.81% Inc - Total Price \$2,500.00	Marshall, MN Unit Price \$9,500.00	63.45 Facting, LLC - Total Price \$9,500.0
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING	LS LS	Quantity 1 1	Unit Price \$2,500.00 \$2,000.00	nate Total Price \$2,500.00 \$2,000.00	Unit Price \$5,000.00 \$7,500.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00	51.81% Inc - Total Price \$2,500.00 \$3,000.00	Marshall, MN Unit Price \$9,500.00 \$4,500.00	63.45 racting, LLC - Total Price \$9,500.0 \$4,500.0
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS	LS LS L F	Quantity 1 1 220	Unit Price \$2,500.00 \$2,000.00 \$10.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00	Unit Price \$5,000.00 \$7,500.00 \$30.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00	63.45 racting, LLC - Total Price \$9,500.0 \$4,500.0 \$4,400.0
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION	LS LS L F C Y	Quantity 1 1	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00	Unit Price \$5,000.00 \$7,500.00 \$30.00 \$34.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00	Marshall, MN Unit Price \$9,500.00 \$4,500.00	63.45 racting, LLC - Total Price \$9,500.0 \$4,500.0 \$4,400.0
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON	LS LS L F	Quantity 1 1 220	Unit Price \$2,500.00 \$2,000.00 \$10.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00	Unit Price \$5,000.00 \$7,500.00 \$30.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00 \$20.00 \$15.00	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00 \$9.00	63.45 Total Price \$9,500.6 \$4,500.6 \$4,400.6 \$3,546.6
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON 2501.502 FLAP GATE FOR 18" CS PIPE	LS LS L F C Y	Quantity 1 1 220 394	Unit Price \$2,500.00 \$2,000.00 \$10.00 \$12.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00	Unit Price \$5,000.00 \$7,500.00 \$30.00 \$34.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00 \$900.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00 \$20.00 \$15.00	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00 \$5,910.00	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00 \$9.00	63.45 Total Price \$9,500.0 \$4,500.0 \$4,400.0 \$3,546.0 \$500.0
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON 2501.502 FLAP GATE FOR 18" CS PIPE 2501.503 18" CS PIPE CULVERT	LS LS L F C Y EACH	Quantity 1 1 220 394	\$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00	\$5,000.00 \$7,500.00 \$30.00 \$34.00 \$450.00 \$500.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00 \$900.00 \$1,200.00 \$10,600.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00 \$20.00 \$15.00 \$193.40	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00 \$5,910.00 \$386.80	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00 \$9.00 \$250.00 \$725.00	63.45 Total Price \$9,500.6 \$4,500.6 \$4,400.6 \$3,546.6 \$500.6 \$1,450.6
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON 2501.502 FLAP GATE FOR 18" CS PIPE 2501.503 18" CS PIPE CULVERT 2573.503 SILT FENCE, TYPE HI	LS LS L F C Y EACH EACH L F	Quantity 1 220 394 2	\$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00	Unit Price \$5,000.00 \$7,500.00 \$30.00 \$34.00 \$450.00 \$600.00 \$50.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00 \$900.00 \$1,200.00 \$10,600.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00 \$15.00 \$193.40 \$965.37 \$29.37	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00 \$5,910.00 \$386.80 \$1,930.74	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00 \$9.00 \$250.00	63.45 Total Price \$9,500.0 \$4,500.0 \$4,400.0 \$3,546.0 \$500.0 \$1,450.0
	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON 2501.502 FLAP GATE FOR 18" CS PIPE 2501.503 18" CS PIPE CULVERT	LS LS L F C Y EACH EACH	Quantity 1 1 220 394 2 2 212	\$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00	\$5,000.00 \$7,500.00 \$30.00 \$34.00 \$450.00 \$500.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00 \$900.00 \$1,200.00 \$10,600.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00 \$15.00 \$193.40 \$965.37 \$29.37	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00 \$5,910.00 \$386.80 \$1,930.74 \$6,226.44	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00 \$9.00 \$250.00 \$725.00	63.45 Total Price \$9,500.6 \$4,500.6 \$4,400.6 \$3,546.6 \$500.6 \$1,450.6 \$11,448.6
ne No. 11 5 6 9 21 7 3 8 4	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON 2501.502 FLAP GATE FOR 18" CS PIPE 2501.503 18" CS PIPE CULVERT 2573.503 SILT FENCE, TYPE HI	LS LS L F C Y EACH EACH L F	Quantity 1 1 220 394 2 2 212	\$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00	Unit Price \$5,000.00 \$7,500.00 \$30.00 \$34.00 \$450.00 \$600.00 \$50.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00 \$900.00 \$1,200.00 \$10,600.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00 \$15.00 \$193.40 \$965.37 \$29.37 \$5.00	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00 \$5,910.00 \$386.80 \$1,930.74 \$6,226.44 \$300.00	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00 \$9.00 \$250.00 \$725.00 \$54.00 \$4.00 \$3,000.00	63.45 Total Price \$9,500.0 \$4,500.0 \$4,400.0 \$3,546.0 \$500.0 \$1,450.0 \$11,448.0 \$240.0 \$3,000.0
ne No. 11 5 6 9 21 7 3 8	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON 2501.502 FLAP GATE FOR 18" CS PIPE 2501.503 18" CS PIPE CULVERT 2573.503 SILT FENCE, TYPE HI 2575.501 TURF ESTABLISHMENT	LS LS L F C Y EACH EACH L F	Quantity 1 1 220 394 2 2 212	\$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00	Unit Price \$5,000.00 \$7,500.00 \$30.00 \$34.00 \$450.00 \$600.00 \$50.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00 \$900.00 \$1,200.00 \$10,600.00 \$360.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00 \$15.00 \$193.40 \$965.37 \$29.37 \$5.00	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00 \$5,910.00 \$386.80 \$1,930.74 \$6,226.44 \$300.00 \$2,500.00	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00 \$9.00 \$250.00 \$725.00 \$54.00 \$4.00 \$3,000.00	63.45 Total Price \$9,500.0 \$4,500.0 \$4,400.0 \$3,546.0 \$500.0 \$1,450.0 \$11,448.0 \$240.0 \$33,000.0
ne No. 1 5 6 9 21 7 3 8 4	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON 2501.502 FLAP GATE FOR 18" CS PIPE 2501.503 18" CS PIPE CULVERT 2573.503 SILT FENCE, TYPE HI 2575.501 TURF ESTABLISHMENT Totals for Project CP 001-090-035 % of Estimate for Project CP 001-090-035	LS LS L F C Y EACH EACH L F	Quantity 1 1 220 394 2 2 212	\$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00 \$2,000.00	Unit Price \$5,000.00 \$7,500.00 \$30.00 \$34.00 \$450.00 \$600.00 \$50.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00 \$900.00 \$1,200.00 \$360.00 \$3,000.00 \$48,556.00 98.12%	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00 \$15.00 \$193.40 \$965.37 \$29.37 \$5.00	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00 \$5,910.00 \$386.80 \$1,930.74 \$6,226.44 \$300.00 \$2,500.00 \$27,153.98 10.80%	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00 \$9.00 \$250.00 \$725.00 \$54.00 \$4.00 \$3,000.00	63.45 racting, LLC - Total Price \$9,500.0 \$4,500.0 \$3,546.0 \$1,450.0 \$11,448.0 \$2,40.0 \$3,000.0
ne No. 1 5 6 9 21 7 3 8 4	% of Estimate for Project CP 001-076-001 Project: CP 001-090-035 - Diversion Channel Culvert(s) Item 2021.501 MOBILIZATION 2101.501 CLEARING & GRUBBING 2104.503 REMOVE PIPE CULVERTS 2105.507 COMMON EXCAVATION 2501.502 18" GS PIPE APRON 2501.502 FLAP GATE FOR 18" CS PIPE 2501.503 18" CS PIPE CULVERT 2573.503 SILT FENCE, TYPE HI 2575.501 TURF ESTABLISHMENT Totals for Project CP 001-090-035	LS LS L F C Y EACH EACH L F	Quantity 1 1 220 394 2 2 212	\$2,500.00 \$2,000.00 \$10.00 \$12.00 \$250.00 \$600.00 \$40.00 \$15.00	Total Price \$2,500.00 \$2,000.00 \$2,200.00 \$4,728.00 \$500.00 \$1,200.00 \$8,480.00 \$900.00	Unit Price \$5,000.00 \$7,500.00 \$30.00 \$34.00 \$450.00 \$600.00 \$50.00	40.29% c - Rice, MN Total Price \$5,000.00 \$7,500.00 \$6,600.00 \$13,396.00 \$900.00 \$1,200.00 \$10,600.00 \$360.00 \$3,000.00	Kern & Tabery Wadena, MN Unit Price \$2,500.00 \$3,000.00 \$15.00 \$193.40 \$965.37 \$29.37 \$5.00	51.81% Inc - Total Price \$2,500.00 \$3,000.00 \$4,400.00 \$5,910.00 \$386.80 \$1,930.74 \$6,226.44 \$300.00 \$2,500.00	Marshall, MN Unit Price \$9,500.00 \$4,500.00 \$20.00 \$9.00 \$250.00 \$725.00 \$54.00 \$4.00 \$3,000.00	63.45 Total Price \$9,500.0 \$4,500.0 \$4,400.0 \$3,546.0 \$500.0 \$1,450.0 \$11,448.0 \$240.0 \$33,000.0

I hereby certify that this is an exact reproduction of bids received.

Certified By:

__

License No. 243

Date: 6-7-7/

CERTIFIED COPY OF RESOLUTION OF COUNTY BOARD OF AITKIN COUNTY, MINNESOTA

ADOPTED

June 9, 2020

By Commissioner: xxxx

20200609-xxx

Award Contract No. 20205

WHEREAS, Contract No. 20205 is for construction of C.P 001-076-001 and C.P. 001-090-035 and

WHEREAS, sealed bids were opened for this project at 2:00 p.m. on Monday, June 1, 2020 with a total of six bids received, and

WHEREAS, Marvin Tretter Inc., Pierz, MN was the lowest responsible bidder in the amount of \$637,546.41.

THEREFORE, BE IT RESOLVED, that Marvin Tretter Inc. is awarded Contract No. 20205.

BE IT FURTHER RESOLVED, that the chairperson of the Aitkin County Board and the Aitkin County Administrator are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents.

Commissioner xxxx moved for adoption of the resolution and it was declared adopted upon the following vote

FIVE MEMBERS PRESENT

All Members Voting

STATE OF MINNESOTA) COUNTY OF AITKIN)

I, Jessica Seibert, County Administrator, Aitkin County, Minnesota do hereby certify that I have compared the foregoing with the original resolution filed in the Administration Office of Aitkin County in Aitkin, Minnesota as stated in the minutes of the proceedings of said Board on the 9th day of June, 2020 and that the same is a true and correct copy of the whole thereof.

Witness my hand and seal this 9th day of June, 2020

Jessica Seibert County Administrator